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Lesson 1. Mathcad CUA1 AR BEEHRTS

Q.1 solve,D T 4
D-D=16—>[ ]

substitute , D=4
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X % 72 substitute ,D = —
solve ,C 3
D-C-C=36 [ . ]
= =31
& substitute , D=4
substitute ,C =3 D:=4
solve , P C:=3
D-C-P=T72 6 P:=6
D+C+P=13
cleat(D,C. 1) substitute , D=4
substitute ,C'=—3 D:=4
solve ,P =—3
D-C-P=72 6 P=—6
D+C+P=-5
clear (D, P) substitute ,D = —
substitute ,C = 3i D:= —.4
solve , P C:=3i
D-C-P=72 6i P:=6i
D+C+P=—4+9i
cipas (D i ’P) substitute ,D = —
substitute ,C = —3i D:= —4-
solve , P C:=-3i
D.C-P=72 —6i P:=—6i

D+C+P=—-4-9i
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clear (S,D,M)

clear (S,D,M)

08/23/2017
Q.2 5
solve , S =
§.5.5=125 il —§+ 5i- V3
_E_ Bie
2
clear (S, D, M) substitute,S=5
solve ,D
S.D=55 11
substitute ,S=5
substitute ,D=11
solve ,M
D-M+S5=38
S:=5 D:=11 M:=3 D+M=14
substitute , S =—E+ 51.\/5
2 2
solve ,D 95
S D5 11 11i-y/3
2 2
substitute,S=—2+ 51.\/5
2 2
substitute , D = 1 111'\/5
2 2
solve , M 43i.
D-M+S=38 3,4 V3
2 22
5i-/3 oI 11 11i-y/3 M::_§+431-\/§
2 2 2 2 22
D+M=-7—6.141i
substitute,S:—i— 51.\/5
2 2
solve , D ie
S D5 11 1 \V3
2 2
substitute,S:—i— ol .2\/5
substitute ,D = 11 aF 111.\/5
2 2
solve , M 43i.
D-M+S5=38 —%— 3122\/5
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D:=

11+111-\/§
2 2

D+M=-7+6.141i
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©+®=13
©x®=42
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.x.=36
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M S:=0 N:=0
*

& S+N=13
ok L

® N-S=1

[;]::find(S,N)
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M R=1 B:=1 G:=1
e
i_E R-B=72
& Ly
2 B-G=36
® R-G=32
I R
5| |B|=find(R,B,G)
- G
G=4
@
™ R:=—1 B:=—1 G:=-1
*
&+ R-B=T72
ok il
| - [R
3 B|:=find (R,B,G)
= G
G=—4
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A3 43iV/3

2 22

S1 [e

N| |7
R] [8
Bl=|9
G| |4
R] [-8
Bl=|-9
G| |-4
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clear (D,C,P)

fm

{H_D::l C:=1 P:=1

]

% D.c.c=36

®| D.C-P=72

Lo D] [4

= C |:=find (D,C,P) @ l=13

= P P 6 D+C+P=13
@

{H D:]. C::—l P::1

H

& D.-D=16

¥ D.c.c=36

®| D.C-P=72

Jd D D 4

= C |:=find (D,C,P) Cl=|-3 D+C+P=-5
= P P —6

clear(D,C’ ,P)

i [T b

o Di=—1 C:=—1i P:=1

®]

| D.-D=16

g D-C-C=36

®| D.C-P=72

s C |:=find(D,C,P) C|=|-3i

- P P —6i D+C+P=—-4-9i
] .

M D:=—1 C:=11 P:=1

Ly

g D-C-C=36

®l D.C.-P=72

L[ D] [-4

s C |:=find (D,C,P) C|=| 3i

> P P 6i D+C+P=—-4+9i
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clear (S,D,M)

%5:21 D=1 M:=1

)|

&t S.5.5=125

g S.D=55

® D-M+S5=38

, S

s D |:=find (S,D,M)

> M D+M=14

clear (S,D,M)

wf :

o S:=—11 D:=—1 M:=-1

bl

& S.5.5=125

® D-M+5=38

‘,I _' S

s D |:=find (S,D,M) D+M=-7+6.141i
= M

clear(S,D,M)

£ 5=—1i Di=—11i Mi=—7—1i

]

&+ S.5.5=125

& s.p=55

® D-M+S=38

—I | S

3 D |:=find(S,D,M) D+M=-7-6.141i
= M
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